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1.1- Balance of payment comprises of Ut Jy/ JE u‘?mgﬂ} -1.1
invisible goods #2124 (B) visible goods / A2 (A)
capital goods 2 ¥ (D) visible and invisible goods 210,440, (C)
2 - Number of firm/s under monopoly is s Gor ol JQ%/'/() eFL Gl -2
4 (D) 3 (©) 2 (8) 1 (A)
3 - The phases of trade cycle are Ut Lost sl L /€ 34%' -3

4 (D) 3 (© 2 ( 5 (A)
4- Relationship between level of prices and quantity of money is & by J"’Y ¥ ogtuie g9l f}/ J u?f .4
all of these f(,?,_, (D) indirect 414l (C) negative ; (B} positive =% (A)
5~ are calied transfer payments. < bl i ut:(fft,idta";f -5
salaries u¥ (B wages Lzl (A)

prices u:"”«? <)
Q;Lu’tﬂ_}/)goiﬁ;l(}i/@?b» -6
Robbins 7 (B) Marshall 7 (A)
R ) W NN ST

productive expenses = bl (Sbly (A)

unemployment aliowances J;EUI G (D)
6 - Who did give economics the status of positive science
Adam Smith #77 (D) Keynes # (C)
7- Expenses on wear and tear of machinery are called
non productive expenses u.‘:«[g‘j'f $Mlke /j (B)
wages &b (C)
« bl Q-‘//,},]';J‘;"JJJ -8

value of money  .s4 (A)

depreciation expenses b} (D)
8- The purchasing power of money is called

exchange of money J:VJT/ )

credit money L%/ (D) . “quantity of money .Ad (C)
9 - Which one is not called land e HiLie L -9

Mangla Dam @3- (D) forests A2 (C) mountain iy (B) rain o (A)

10 - Slope of marginal utility curve is e e ¥ Lot 10
horizontal J" i (D) veftical ($»f (C) negative & (B) positive =i (A)

11- is not factor of production. & u.‘." (}L{.; Jb -1
capital Lt (D) output bl (C) labour = (B) land %7 (A)

12 - The canons of taxation were fifstly stated by ____. LUkl AdE UL LS AR
Keynes 4 ( Pigou & (C) Robbins 7, (B) Adam Smith #pT (A)

13- Demand for necessitieséf life is i U b Y A Ny divj,:,p:/ -13
// more elastic /L»g oli (B) less elastic Jug { (A)
inelastic Jug Fa) perfectly elastic Jl;.gd*( (©)

14 - Fim's equilibyi(x’;n is at that point where Uz e by B ogini¥ r/' -14
" MC=MR d»f¥ =Ll ¥ () MG = AR U bt = ke ¥ (A)
MC =AC Jidethal = e 7 (D) MC=AVC Jiler s = iile (¥ ()

15 - /Trfé/ goods on which the law of demand does not apply, are cafled Ut Ol ke T wAYIb L AP P -1
’ goods and services «is /2 (B) services =l (A)
capital goods L2 |*1 (D) (7 giffin goods  # M vl ©)
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Note: Section I is compulsory. Attempt any THREE (3) 3) fe b = U e $Y Jilw 1o g
Section -1 3l .o e (2 ey

questions from Section II.

2 -'Write short answers to any SIX (6) questions. (2x6=12)

i- Write down the definition of Economics as stated by Prof. Marshall.
Define science.
Differentiate between micro economics and macro economics.

i -
1l -
iv - Differentiate between rise and fall in demand.

Differentiate between supply and stock.

V-
vi- What is meant by perishable goods?

vii - Describe the meaning of normal price.

viii - What is meant by utility and usefulness?
ix - What is meant by total utility?

3 - Write short answers to any SIX (6) questions.
What is meant by marginal cost?
Differentiate between fixed cost (FC) and yariable cost (VC).

What is meant by total revenue?

i-
ii -

iii -

iz Loy 6) & o -2
-:’f/fw/’Jquf oJ/U(/ JJOL/"J/
Al 1o

-1

-1
ool (O e T Gz i
-éut«&/‘d’ Lf/ﬂ&yévﬂ’ -1v
c{»_)lﬂ: Jufu~ o,..:ulm -V
S Ve sPiri il -vi
“E Y PV ed Gl -vid
Sl W Garadb st bl - viid
«éfub ryf‘”h;b’f -ix

(2x6=12) -z F iz FL =iy (6) & o (f-3
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-
_'3 iv- What is meant by the law of increasing return? ?‘7’ <d lf:- Jﬂbﬁ@js v
-_‘,j v - Write down the names of laws of return? K ,efrt = J“’bgfff o
5 P ) 2 )
o .’\.7.1 - Descrfbe four conditions of perfect competition, Sk Yk LI “le J A L}”{ ’
‘.m - What is meant by monopoly? ‘ g g U - V-l‘
v%ii - Write down four assumptions of marginal productivity theory. _al ._,La;;/& cl_ iﬁ”w ~ V”
1x - Describe the meaning of factors of production. = Wk oy KM/; j h f”“
4 - Write short answers to any SIX (6) questions. (2x6=12) -i{/‘ w&ii/‘" L...,m: (S)if:v l‘ f y
i- Whatis meant by gross domestic product? ¥ . )
- What is meant by subsidies? L g y Ugﬂ’ )
ui - Write down four important imports of Pakistan. & . l??— )’j!f g{? é:u - l ‘
v - Define quantity theory of money. ) ;“ TJ (JJLP ( “uu'% _ :“'
v~ What is meant by domestic trade? ‘V- bfj/ur ”"!‘W’{; N
vi- Describe the concept of balance of trade. Zf jl:/r‘” KL hl:(; f .
\./ii - Differentiate between private finance and public finance. -Z Uk Jf VUL(M/ ;J LLJJLJU:) ﬂ V‘
viii - What is meant by sun spot theory? S ol e ,,/Jz u:’: BT ‘ W
ix - What is meant by surplus budget? | “‘.‘('_ ;;/ Ve W:J"b — 'vvm
- o Section - IT (1) > ‘ “ .’ o
o - Xplain the ¢ 2
an;) d'agranifaw of supply with the help of schedule (8) -Z:r!/?l,‘u;t oM 95 ooy S yit -5
fff 6 - Explain the law of diminishing marginal utility with the (8) el Ly Pt U2
ﬂ: help of table and graph. ' S e
:f 7 - Describe long run equilibrium of a firm under perfect competition. (8) -éfub oty Kr/u" Jbapeil é..lm)"( -7
\ 8 - Explain circular flow of national income by diagram. (8) -2: rI/C!J E )RR J S L d,uo’ Yy -8
%t 9~ Write down two methods of nationa | income determination. (8) B ED by S O e,y




